B21EIETHEFEL LY vA—KE

HAEHEITOvIR
EATDOYY
FFz)—X I ¥aAscC NEZ425 R FC Viso 53 | 1% R | K RS KB
FCHELS—F 0O @ 10 - - 0 7 of of of 17/-17
FFz)—X 10 of 6| 16| o| 16
NPOTT31SCTHYI7 of of of 8 -8
NPOJIIG 12T Rb& of 3| 2f 1 1
FC Viso 7 of 6 8 of 8
EmBJ0vy
%5 5115 2| 2K 53|15 K| IB sz
IEHRFERTUZXSC 6| 7| of 7
GHUA=—% of of 9 -9
ACER FT—AR 6 7| of 7
mEAREY—X of 1| 5| -4
NKFCIILY—F 3| 3| 4/ 1

W Efib—F ATk

BT fb—F Ak

©

AL B2fi

A3fiL

B34

A2{iL B1fiL

@ |

©)

A4fL

B5{iL

A5{L

@

B4

®




F21m)IighEFLEYYH—KE

AEHER
W4/13(A)RAAT RGFR: BT X
3R BF *TE FE EIES HES
1 12:00|T><34SC 0 — 2 |IN&Hs> 5 R |FC Viso FCHIR FCHER
2| 12:40|FC Viso 7 — O |FcHzm I >aAScC 11 Ly R a2y QIR Ly POV S
3|  13:20(F&Fx)—X 6 — 0 |Tv> aqsc FC Viso FCHIR FCHER
4 1400|141 A&X | 0 — 1 |FC Viso FFzl)—X I Pa4SC I Pa4SC
5/ 14:40|FCHR 0 —10|&EFz)—X JN&ro94>49 X |FC Viso FC Viso
W4/13(B)dERABE RiGFHFR . IFHFRATUX
3R BF *TE FE EIES HES
1 9:30[SFHFRATUX| 4 — (0 |GHUA=—F ACE R H BEeR BEeR
2| 10:10|ACZH %< A 2 — 0 |mBEEER SERFRTUX|GHUA=Z—F GHUA=—7
3| 10:50[NKFCTILY—F| 0 — 3 |SEFHFRTUX|ACELR A BEeR BEeR
4] 11:30|GHUA=—F 0 — H |ACZE4aH NKFCIILY—F [SEFRLFRATUX|SEHRFEFRTVR
5| 12.10(mBEAE 1 — 3 |NKFCIJLY—F |GHUA=—F ACEAR A ACEAR A
W4/27(B)E/INER Ki151%:FC Viso
A 3R BF *TE FE EIES HES
1 13:00| T><31SC — FCHIR M4 R  |FEF)—X FFr)—X
2| 1340142 R — FFr)—X I >aAScC FCHIR FCHIR
3|  14:20|FC Viso — I >aAScC M4 R  |FEF)—X FFr)—X
4|  15:00|FCHR — N&o4>45 X [FC Viso I>>aASC I >aAScC
5 1540|FFz)—X — FC Viso FCHhR &4 R (NEDT R
W4/27(B)HFENER KB%R - EEER))—X
3R BF *TE FE EIES HES
1 9:00|ACE & A — IFEHLFRAITUX|EEEERE GHUAZ=—7F GHUAZ=—7F
2 240|FEER — GHUA=—7 ACEAR A SERFRIVX(EEFDFRATUX
3| 10:20|NKFCT)L<w—F — ACEAL A BEEEERE GHUAZ=—7F GHUAZ=—7F
4]  11.00|SFHFEFRTX — mEaR NKFCIJLY—F |ACE L A ACEAR A
5/ 11:40|GHUAX=—F — NKFCIIR—F |SEFHFRT X |EEER BEeR
W4/29(R) I RAAE RiGHR: GHUAZ=—F
A 3R BF *TE FE EIES HES
d 9:30|B2{iL —_ A3{iL A2{iL B3 B34z
@ 10:10|A2{L —_ B3fi B2 A3{iL A3{iL
@  10:50|A4{L —_ B51iz A2{iL B3 B34z
@  11:30|B4{ —_ A5{iL A4{sL B51iz B54i1
W5/5(R)F 4 hiElHEE 5%k . FFr)—X
A 3R BF *TE FE EIES HES
®) 9:30| @M &l — @nalt ©10):: 15 @D S @D S
® 10:10|QD L — @DL ©0)=1b) @&y @&l
@  10:50|A14 — 00);: 15 ©L0):: 15 @DL @D S
@ 11:30|B1fi — Qns AL Db 00):: 15
@ 121000 &+ — Qnalf B1{i QnEs Qs
@ 12:50|Qn AT — ®nalt DnAalT Q@nalt Q@nalt
@ 13:30| QDL — @D L ©2)=15; ®nalt ®nalt
1415 KLY RERK

W5/6(B)FEB (ZF4HZLEBNLE)




